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1. Physical quantities are
a. degrees, radians and steradians
b. length, mass, time, electric current, thermodynamic temperature, amount of substance, and luminous
intensity
c. pounds, dollars and rupees
d. Kilos, pounds and gallons

sifas afRr §:

faft, IzTer 3tk eRfzaw

oSS, SeTHT, HHY, Taegd 4R, YHTSRITHS AT9HTe, qere S AT, AR TeHeher e
qT38, STeR 3R F9

d. frerams, a3s 3R e

°© T ®

2. Which of the following pairs has the same dimensions?
(a) specific heat and latent heat
(b) Impulse and momentum
(c) surface tension and force
(d) moment of Inertia and torque
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3. In Sl system the fundamental units are
(a) meter, kilogram, second, ampere, Kelvin, mole and candela
(b) meter, kilogram, second, coulomb, Kelvin, mole and candela
(c) meter, Newton, second, ampere, Kelvin, mole and candela

(d) meter, kilogram, second, ampere, Kelvin, mole and lux




S| yuTrelT H HAifors shsar &
a. HIX, fohelan#, Tehs, TrdIRR, hieast, Arer 3R e
b. #HIEX, fohellalT#, GERT, THeldd, shicds, Hiel 3N e

4. Resolution is

(a) a measure of the bias in the instrument
(b) a measure of the systematic errors
(c) the smallest amount of input signal change that the instrument can detect reliably

(d) None of these
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5. Absolute error of the measurement is
a. the difference between the individual measurement and the true value of the quantity cubed.
b. the difference between the individual measurement and the true value of the quantity squared.
c. the difference between two individual measurements and their mean
d. the difference between the individual measurement and the true value of the quantity
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6. A boy starts from a point A, travels to a point B at a distance of 1.5 km and returns to A. If he takes one
hour to do so, his average velocity is

(@) 3 km/h
(b) zero

(c) 1.5 km/h
(d) 2 km/h
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() 3 km/h
(b) =T
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(d) 2 km/h

7. A body starts from rest and travels with uniform acceleration on a straight line. If its velocity after making a
displacement of 32 m is 8 m/s, its acceleration is

(@) 1 m/s?
(b) 2 m/s?
(c) 3 m/s?
(d) 4 m/s?
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(@) 1 m/s?
(b) 2 m/s?
(c) 3m/s?
(d) 4 m/s?
8. Which one of the following is the unit of velocity?
(a) kilogram
(b) metre
(c) m/s
(d) second
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(@) kilogram
(b) metre
(c) m/s
(d) second

9. A body starts from rest and travels for t second with uniform acceleration of 2 m/s2. If the displacement made
by it is 16 m, the time of travel t is
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(c)6s

(d)8s
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10. A body starts from rest. If it travels with an acceleration of 2 m/s?, its displacement at the end of 3 seconds is
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(b) 12m

(c)16m

(d)10m
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11. A body makes a displacement of 4 m due East from a point O and then makes displacement of 3 m due North.
Its resultant displacement from O
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12. Abody is travelling in a circle at constant speed. It
(a) has an inward acceleration
(b) has constant velocity.
(c) has no acceleration

(d) has an outward radial acceleration
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13. When angular velocity changes with respect to time, then?



(a) an angular acceleration is produced
(b) a linear acceleration is produced
(c) it constitute a couple

(d) a linear velocity is produced
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14. The time of flight is equal to:

(a) four times the time necessary to reach the maximum height.
(b) thrice the time necessary to reach the maximum height
(c) equal to the time necessary to reach the maximum height.

(d) twice the time necessary to reach the maximum height
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15. The path followed by a projectile, is called its

(a) Territory
(b) Treasury
(c) Tractor
(d) Trajectory
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16. When abus stopped suddenly, a passenger in the bus falls forward. This is explained

() by Newton’s first law

(b) by Newton’s second law
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(c) by Newton’s third law

(d) by the principle of conservation of momentum
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A passenger, sitting in a bus moving at uniform speed, feels pushed backward whenever the bus is
accelerated forward. This type of force is called

(a) Gravitational force

(b) real force

(c) fictitious force or pseudo force
(d) frictional force
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A body of mass 5 kg is travelling with a uniform velocity of 2 m/s. Its momentum is

(@) 10 kg m/s

(b) 7 kg m/s

(c) 2.5 kg m/s

(d) 3 kg m/s
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(a) 10 kg m/s

(b) 7 kg m/s

(c) 2.5kgm/s

(d) 3 kg m/s

The mass of a body which is equal to the ratio of the force acting on a body to the acceleration produced in the
body is

(a) the gravitational mass
(b) the electromagnetic mass
(c) the internal mass

(d) the inertial mass
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20. A block of wood is placed on a surface. A force is applied parallel to the surface to move the body. The
frictional force developed acts
a. normal to the surface upwards
b. normal to the surface downwards
c. along the direction of the applied force
d. opposite to the direction of the applied force
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21. Out of the Fundamental forces (gravitational force, electric force, weak nuclear force and strong nuclear
force), gravitational force

(@) ranks first in strength
(b) ranks second in strength
(c) ranks third in strength

(d) ranks fourth in strength
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22. The frame of reference attached to a satellite of the earth is
(a) an inertial frame
(b) an absolute frame at rest with respect to the stars
(c) anon — inertial frame

(d) a gravitational frame

g2l o U 39E § ST §37 Tedl A &



23.

24,

25.

Ueh S5cary thal

fAART & AT Teh A e
T IR ST5cdIg el

Teh JocaTehyuT the

2 o T @

A block of mass M is placed on a flat surface. A force is applied to move it parallel to the surface. The
frictional force f developed is proportional to the

(a) square of the mass of the body
(b) mass of the body
(c) reciprocal of the mass of the body

(d) reciprocal of the square of the body
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A machine gun fires a bullet of mass 40 g with a velocity of 1200 ms-1. The man holding it can exert a
maximum force on 144 N on the gum. How many bullets can he fire per second at the most?

a. one
b. four
c. two
d. three
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A body of mass 10 kg is travelling with uniform speed of 5 m/s. Its kinetic energy is
@25J

(b) 1257

(c) 1250J

(d) 1000J
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@25J
(b) 1257
(c) 1250
(d) 1000
26. A quantity of work of 1000 J is done in 2 seconds. The power utilised is
(a) 998 W
(b) 1002 W
(c) 2000 W
(d) 500 W
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(a) 998 W
(b) 1002 W
(c) 2000 W
(d) 500 W
27. A body of mass 10 kg moving at a height of 2 m, with uniform speed of 2 m/s. Its total energy is
(@) 316J
(b) 216 J
(c) 116 J
(d) 392
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(a) 316 J
(b) 216 J
(c) 116 J
(d) 392

28.  Two masses of 1 g and 4 g are moving with equal kinetic energies. The ratio of the magnitudes of their
linear momenta is
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A body of mass 100 kg falls from a height of 10 m. Its increase in Kinetic energy is
(a) 9800J
(b) 1000 J
(c) 5000J
(d) 3000 J
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(a) 9800 J
(b) 1000 J

(c) 5000 J
(d) 3000 J

30. A body of M.I. 3 kg m? rotating with an angular velocity 2 rad/s has the same K.E. as a mass of 12 kg

31.

moving with a velocity of
(@) 1m/s
(b) 2 m/s
(c) 4 m/s
(d)8mis
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(@) 1m/s
(b) 2 m/s
(c) 4 m/s
(d) 8 m/s

A particle performing uniform circular motion has angular momentum L. If its angular frequency is doubled
and its kinetic energy halved, then the new angular momentum is

(a) L/2
(b) L/4
(c)2L
(d) 4L
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(c)2L
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. A thin uniform, circular ring is rolling down an inclined plane of inclination 30° without slipping. Its linear
acceleration along the inclined plane will be

(a) 9/2

(b) g/3

(c) g/4

(d) 29/3
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(a) 9/2

(b) g/3

(c) g/4

(d) 29/3

Moment of inertia depends on
(a) Distribution of particles
(b) Mass

(c) Position of axis of rotation

(d) All of these
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. If a body is rotating about an axis, passing through its centre of mass then its angular momentum is directed
along its

(a) Radius

(b) Tangent

(c) Circumference
(d) Axis of rotation
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35. A particle moves on a circular path with decreasing speed. Choose the correct statement.
(a) Angular momentum remains constant.
(b) Acceleration is towards the centre.
(c) Particle moves on a spiral path with decreasing radius.

(d) The direction of angular momentum remains constant.
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